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Grrid : 3 wanfl | [ Qrgs wHlbuanser : 150
Time Allowed : 3 Hours ] [Maximum Marks : 150
SNleyenr : 1) argg SlearsseErn sflurs udeurdl o 6rergr 6ramuganer
sfluriégs Carareteyd. &HLUS D Gopullmuber mns
savareniliiumerilLb 2 L anguwirssd Csfleilsse|b.
(2) Beb Seveg sy ewulamer w HGW erpgleushEGL LWaLHSS
Ceuamr(Hb. UL RSET euengeugm@ Guemdled LwearL(HéseLb.
Instructions : (1) Check the question paper for fairness of printing. If there is any lack of

fairness, inform the Hall Supervisor immediately.
(2) Use Black or Blue ink to write and pencil to draw diagrams.

&oluy Caamauwirer @LsHle UL b euanrhgl, FUT(HESMET 6T(LHGIs.
Note : Draw diagrams and write equations wherever necessary.
L@&S) - 1/ PART - I
GOLY : () eengg lammsseEnd@h eflel wellésan. —_——
(i) efwurer elewLmus CarbEsHSSH TLPSIS.
Note : (i)  Answer all the questions.

(i) Choose and write the correct answer.

1. 95Cer Cpi Sjweaflsamar 2 (HeursGH D).
{(21) wrbgean(haer (<3) <5l (&6
(@) 2wflw euryssar (/F) &y 2 Cersmiger

form oxocations.
(a) Lanthanides ' (b) Actinides
(c) Noble gases (d) Alkali metals
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BSCITTLD 2 Gergs Beeneuuller o erer o Gersrigar

(@) Cr,Ni,Fe ™ (%) Cr, Co, Ni (@) Cr, Fe () Cr, Fe, Cu
The metals present in Nichrome alloy :

(@) ©Cr, Ni, Fe (b) Cr, Co, Ni (c) Cr, Fe (d) Cr, Fe, Cu

2Hy0g) +2Clyqy = 4 HClyy + Oy Taip sHled0EES K, wpmibd K,
g Sweundnsrear Qgmiy

(1) K, =K, (<) K, =K/(RT)?
(@) szKC(RT)l () K, =K (RT) =%
2H)0g) +2Chy ) = 4 HCl )+ Oy

The relationship between K, and K_ for the equilibrium is :
@ K=K, (b) K,= K (RT)?
(©) K=K (RT)! (d) K,=K.(RT)"2

SrenwiHm STrLeneT QareanTiq e SSCerm ofletd
(=) Henerdlem (<=4) e e (@) yCrmrele (7)) ensCrmélen

The aminoacid without Chiral carbon is :

(a) Glycine (b) Alanine (c) Proline (d) Tyrosine
fladlsar Gegdd QUBLUTETEDWTET ITlL&HSamar Lweru®hssLUHEDE.
(1) Ly seuy (=) 2-Plepe

(@) QeuaflCuipm () @ eneuamersg)n

Silica gel is utilised for the of the number of gases.

(a) adsorption (b) absorption

(c) desorption (d) all of these

U e lem @m Bl rraa o MErd ,Xel39, 5% wpmib X ererm
eflemer@ummener smEANG . @ X erenig

(<=1) 3 Bl rreser (<=4) 2 Bl Lrresser

(&) «- giser () B - gisar

9oU?*° nucleus absorbs a neutron and disintegrates into 5,Xel3, 355174 and X.
What is X ?

(@) 3 neutrons (b) 2 neutrons

(c) a-particle (d) B-particle
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eraddanen_ iSean créeen SmeTEsTeNs: THNIEIS)
(<31) Na,CO; &eFae (&) mBLyed 2fLilevd

(©) NaHCO; ey (,r) Guuwilen syewfl

Ethylene diamine is converted to ethylene glycol using :
(a) Na,COj solution (b) Nitrous acid
(c) NaHCOj solution (d) Baeyer’s reagent

bl Crr oGaasaiigierear - NO, dsrgdlew - NH, Cgr@gdwuns wrhmwn syemi
(&1) Sn/HCI (=4)Zn  giseT (@) Zn/NH/CI (F) Zn/NaOH

In nitroalkanes - NO, group is converted to - NH, group by using the reagent :

(@) Sn/HCI (b)  Zn dust (c) Zn/NH,CI (d) Zn/NaOH
rgifley 2 arer < dedlmem cuallantolbleEs: iLolewmisEHL 6 - TTT ¥:
9 &Garaflub 2 lmusd SmEDS.

(&) eredLyren eFHmLd (=) yGpmlLmer erHmLDd

(@) yGyriLmen B&sid (/) Bir Baaid

Strong mineral acids the ethereal oxygen forming oxonium salts.

(a) electronate (b) protonate

(c) deprotonate (d) dehydrate

@ sarsdler pH=2 erafler ifled 2 erer emanl ymen Sjwansaflar Camley

Guomed 68l ~1 @éd

(1) 1x10712 (<=4)1x10~4 (@) 1x10~7 (@) 1x1072

When pH of a solution is 2, the hydrogen ion concentration in moles litre ™! will be :

(a) Tx10-12 (b) 1x10~% () 1x1077 (d) 1x1072

[ $muys / Turn over
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UTFT &b SeNenld LIGHTL| FHLULSE STTamrLd

(<=1) Cegrig er&L_grenser

(=) pperwrs Blroulul L &l Frem 2 6rén (h&eT
(@) salss erevsL TrerTser

(F) PpeUGID STEOIITS 2 6TeT ETeVd&L FT6 2 6Mdn (h&HET
Paramagnetism is the property of :

(a) paired electrons

(b) completely filled electronic sub-shells

(¢) unpaired electrons
(d) completely vacant electronic sub-shells

Canur wepuded bCwreflur surfissadae ds ere; LEwraium
e LiLg

(1) GODES WSS WwHMID AHs Ceuliublena

(<) GOPHS SA(WssD LHYD G@DHS Cleutiflae

(@) =ids WssL LHNIL 2Ps QeuliLiflare

() <ifls Sipssbd wHMD Gonbs CeuliLblae

In the manufacture of ammonia by Haber’s process, the maximum yield of ammonia
will be obtained with the process having :

(a) low pressure and high temperature
(b) low pressure and low temperature
(©)

(

d) high pressure and low temperature

high pressure and high temperature

o wilw eury&sEnée alamarnflyb Fper Gone| gbaraid,

(1) e @Gy Tl SESIETET TS TTETSEaT (ol e (HeTere
(<) Dleupdlen Di@ndsH e e

(©) Siemeu GDHS LTSS WL eUTL|&EEET

(m) Simal Hleawss sl rrer Sjewliau CuppieTerer

The noble gases are unreactive because they :
(a)  have same number of electrons

(b) have an atomicity of one

(c) are gases with low density

(d) have stable electronic configuration
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14. U Syewilufes Liwlem
(1) LT BISMET 6IPUIGITSGUSDE
(=) uremsaier 6T @umaml Q&ss sleusnE
(@) urewhsmeT HlEOUITS eULILISDE
(/F) umwEGmer Y delnGampd CeliugnE
Emulsifying agent is used for :
(a) precipitation of an emulsion
(b) denaturation of an emulsion

(c) stabilization of an emulsion
(d) oxidation of an emulsion

15. [FeF '~ umpm srpsssemenn Garem g). blaeie
(1) F-@epLe Frel
(<) F~ flenp Lev rraf] |
(@) F~ euememuyid seiiento Ggmeur mefl
() F~ Qer@sdeaniiy Gerw el

FeF]*~ is paramagnetic because :

[

(@), F isa weaker ligand

(b) F~ is a stronger ligand

(c) F~ is a flexidinate ligand

" (d) F~ is a chelating ligand

16. fcc LRESHD RT ADVGS Fal g 2. 6Tar QTES amissaflen cramanisms

(=1) 1 (<=)2 - @3 (/) 4

The total number of atoms per unit cell in fcc is :

(@) 1 (b) 2 (c) 3 (d) 4
17." Qen aumpauamaupmieT Hs cuallanoujen i e eTgl ?.

(<) CH;COOH (<) HCOOH

(@) CICH,COOH () CH,CH,COOH

Among the following the strongest acid is :

(a) CH,COOH () HCOOH

(c) CICH,COOH (d) CH;CH,COOH

A : [ Slrliys / Turn over
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18. PCls pp@&dadlar 2 6er GQanésaLi
(1) sp° (<) sp°d? (@) sp>d (/) sp?

The hybridisation in PCl5 molecule is :
() sp’ (b) sp*d? () spd (d) sp?

19. Quenéen ewLwCsraflun GGarmamreaL GGammCrr Quendams LIHMICIS)
(<=1) srawr_Cowir efleper (<) vleten aflene

(@) srburs ellenen () evsmLen - GueTner eSlener

Conversion of benzene diazonium chloride to chlorobenzene is :
(a) - Sandmeyer’s reaction (b) Stephen’s reaction

() Gomberg reaction (d) Schotten - Baumann reaction

20. Eps@r_eupmier ergl erar Crmimw glaflssng ?
(=) @Y SBGE5D
(=) LadsLigenuw Brme LrHmIGE
(@) sersele 2 erer &&ECITENE LIGELISHEHSD
() BHLISMS USBISOTEGSW
Which of the following does not result in an increase in entropy ?
(a) Rusting of iron
(b) Conversion of ice to water

(c) Crystallisation of sucrose from solution

(d) Sublimation of camphor

L]

21. sriemuoer ellamamuid FRHLOD SflwECsarow

(=21) (CH;),NH (<=1) CHsNH, (&) (CHs)sN (FF) (CoHs) NTI™

The organic compound that undergoes carbylamine reaction is :
(a) (G Hz),NH (b) C,HsNH, () (CHs)N (d) (CHg) N*I™
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e feanuid Ea=0 whmid 300 K & K=4.2x10° eflermg ~! erafled 310 K - &,
K - & iy

(<=1) 4.2%10° eQeormig. ~ 1 (<23) 8.4 % 10° eQewrmig. ~ 1

(@) 8.4x10~3 eflesrmig. 1 (F) 4.2x107° eflarmig ~1

For a reaction FEa=0 and K=4.2x10° sec—! at 300 K, the value of K at 310 K will be :
(a) 4.2x10° sec~! (b) 8.4%x105 sec™?!
(c) 8.4x107° sec™! (d) 4.2x107° sec™!

rps@ahsaisr sramiiubib fsuls sallgCanmhn Hlae

(1) +1 () +2 (&) +3 () +4

Maximum oxidation state exhibited by lanthanides is :

@ +1 (b) +2 ) +3 d +4

Qar@dHude Gl mbg Sprs Cadaid Curg wefl <prb
(=) @@pdpg

(=) 21afsdng,

(&) sl 2slsg Gar Gapdps

(/F) oTHlelTs 2 6TeTs)

Qn moving down a group, the radius of an ion :
(a) decreases

(b) increases

(c) first increases and then decreases

(d) remains constant

[ Sigpliyyss / Turn over




vidyarthiplus.com

TN PLUS TWO MARCH - 2013

3083

25,

26.

27.

28.

8

e Berr senafléens Qawed wapssrear Geuliu Quisselliue Blunbsmar LM
‘T wHmd P Gev

(1) AG <0 (<) AG=0

(&) AG>0 () (<) wogd (&)

Thermodynamic condition for irreversible spontaneous process at constant “T” and P
is :

(a) AG <0 (b) AG=0

() AG>0 (d) both (b) and (c)

SLpSETLUDMIGT 6T erafiu g

(1) CH; - O - C,Hj (=) C¢Hs - O - CH,
(@) CHs -0 - C,H; (F) C4H,-O - C,H;
Which one of the following is a simple ether ?

(@ CHy -O~CH: ) CHs-0-CH,

cradl_grafler FlweL e efleTédlweuT _
(=) Gurf (<) Qapiisen LTS (@) 4. AyreCer  (rr) LmES
Dual character of an electron was explained by :

(a) Bohr (b) Heisenberg ~ (c) De Broglie (d) Pauli

senaNeCrr ellenans@ 2 L uLrg Camon

(-:91) UTTLOTed g6 8 (h (<) GuegTeiq s (b

(@) SIS LTevigans(h () Levp GQugdle AL LmigmsH

The compound that does not undergo Cannizaro reaction is :
(a) formaldehyde (b) benzaldehyde
(c) acetaldehyde (d) trimethyl acetaldehyde
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9
qerre eflenereiih@ o LILTEE)
(<) umedLDLD (=24) FLDIDESHENTFED
(@) Quussersa (/) el
The phenomenon of Tyndall’s effect is not observed in :
(@) emulsion (b)  colloidal solution
(c) true solution (d) gel

@0&GW0w srssmraw Carbts®

(<=21) &&Crmen (1) Qara)Gamaen
(&) evLmirg (FF) GEBsGaTav
The reducing sugar is :

(a) Sucrose (b) Cellulose

(c) Starch (d) Glucose

L&) - II/PART - II

GOy : () eCsmib uSemenhgl ellamssenéd ol werfl.
(i) eaQerm elemmelhEh @en veg resr(n eursslwmisete

edlenL_wiafl.

Note : (i) Answer any fifteen questions.

31,

32

33

35.

(i) Each answer should be in one or two sentences.

Qanigear Quirsdlen Blapouferer Camum’iqemer 6r(pgis.
State Heisenberg’s uncertainty principle.

osLj@piflafem eravdL_fme HTLL LD @Cerrflanareil_ @epmey. e ?
Why electron affinity of fluorine is less than that of chlorine ?

3083

15x3=45

QerbCur serliuTer samew (Gerb@ur srdesed) LHH GOILL 6T(HSIS.

Write a note on Plumbosolvency.

H,PO, p&amrHgieud 2 amLiwg. Hlepdl
H,PO, is triprotic. Prove.

d- GerEd sefomsd wIPUGDL BsellnGapn blawsamar Qupdlmlugl

Grem ?
Why do d-block elements exhibit variable oxidation states ?

[ Hpliys / Turn over
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“Hlau 2 LODSE” CTEINHTE GTETa ? ASEMET eTeualrn SHSSQMD ?
What is “spitting of silver” ? How is it prevented ?

U8 o | gmeflen Siamreimpe| sreb ty =140 priser @eue|  smeilen syreil
AUTPETOSNS HEMEHE (HS.

Determine the average life of U2 having ti; = 140 days.
g gy y

oEBleT SHLSIHHET eTEnDTed GTemes ?
What are super conductors ?

SpsanL Hlowmw wrhnsdar Gurg e Crmd LIHDSmss Sanssl(H.
AH(TI’aI'ISiinH) =2090 J mol !
1 mole S, (o, 13°C) = 1 mole S, (B, 13°C)

Calculate the entropy change for the following process possessing
AI_I(Trarlsiti(:m):2090 J mol ~ 1.
1 mole S_ (o, 13°C) = 1 mole S (B, 13°C)

& &m g QETeTenSenll Fomis.
State Le-Chatelier’s principle.

aHQAri elleners@ndh@ (P6Tm STATNISET S(HS.

Give three examples for opposing reactions.

Sfafalwey gwetur et . er(pd eleTsEEs.
Write Arrhenius equation and explain the terms.

LSlen(Lpenent SHoulEsl eremmmed reumen ?
What is electrophoresis ?

Wenrarmh LGS UpHlw uryGLufer @rermbd eflSullmeasd ms.

State Faraday’s second law of electrolysis.

BGer LmrLirflé @yfleid, &evwo semenowpn sriuemend QarearL gefl spdmid
senenuldeoars Ceipib-2 a1 udme Bluruiu@ssis.

Mesotartaric acid is an optically inactive compound with asymmetric carbon atoms.
Justify your answer.
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glatleGrmav eresmmed eraan? 245 dlaflerredledlmpbgl ereueurmy GupLLGEDE ?

What is ‘Glycerose” ? How is it prepared from glycerol ?

Semmed ereucurmy Senrligederms wropliuihéng ?

How will you convert phenol to phenolpthalein ?

G eumauaraummlen TUPAC QUWITEeTS &([Hs
(1) GrriLenmaig s

(<) Quagdle n- 4Crriemue SUCLren

(@) Guenamaigms(®

Give the IUPAC names of the following :

(a) Crotonaldehyde

(b)  Methyl n-propyl ketone

(¢) Benzaldehyde

sTiursedledls leonismersd sl Hleugnarear @) CoTEHenanHamensd &(mHs.

Give any two tests to identify carboxylic acids.

C,H5NO (A) eremm epevdaam eumiiurheniit sflwsCero Br,/NaOH 2 e
flenaryfisg CHs;N erarm (B) Cerwseang smélmg. Corwd (A) LiAlH,
wpemeflenauie ehsswa g CHN eremm Cemwd (C) & s@déng.(A), (B)
womin (C) & s Hls.
. An organic compound (A) of molecular formula C,H5;NO reacts with Br,/NaOH to

give compound (B) of molecular formula CH;N. (A) is reduced by LiAIH, to give
compound (C) of formula C,H-N. Identify (A), (B) and (C).

&7 hleuryentlse erammed ereman ? eif er(HhSSHIEHTL(H S(Hs.

What are antipyretics ? Give an example.

3083
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U@ - II/PART - III
@Pluy : galarm Gflald Qopsw Gopss ulsbd @m dlarésamer
Cobsddg Qwrssb e elamss@ssE ofenLwelldseylb. 7x5=35
Note : Answer any seven questions choosing at least two questions from each section.
Yifley-9 / SECTION - A
52. O, (pe&amn 2 (HeuTeuems (pa&sam ML LTd Cararanaliulg elaréss.

Explain the formation of O, molecule using molecular orbital theory.

53. Sleaur ereueury sigen wsHw srgeier Qmphs 9Ns0s0ssLUEGEDSE
craLeng 6lleufl?

Explain how silver is extracted from its chief cre.

54. IGUIT‘I_I")'56DGGT® GnIs&sssa aflenere samer afleui]

Discuss the consequences of Lanthanide contraction.

55. Qevamglpen WeanrlL Garatansuder Lig [Ni(CN),>~ whmb [Ni(NH,),J2*
< Hw Geromsalle sramiu@b Qaésoll, STHSLILE@TL WwHHILD e
g Hweupenn eNerdHeEs.

Explain the type of hybridisation, magnetic property and geometry for
[Ni(CN),J?>~ and [Ni(NH,),]** using VB theory. _

Yfley - =y / SECTION - B
56. Geuiu Quisseilwellen Qrarmbd clfldsrar LoCean FampmsmaT E(ps)s.

State the various statements of second law of thermodynamics.

. 57. PCly slewguyd eflenans@ K. womibd K, rHledl&@EHESTET &FLo6TL T (H & e ar
aU(HelG&a|D.

Derive the expressions for K_ and K, for the decomposition of PCl5.

58. aflener cuansuilen psHlw HpliGweoysamer edlleufl ?

Discuss the characteristics of a order of reaction.
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Epsarand e sewgdlan L emf @b, s ellevarulien Sl L s iger DpHmed
LIHDSMSWD SerTaHS(H.
Zn/Zn?*||Ni2*+ /Ni

E

o
Zn®f < 076V

B
Ni** = 025V

Determine the standard emf of the cell and standard free energy change of the cell
reaction.

Zn/Zn?*||Ni?* /Ni
3 '/~ 076V

B

19fey - § /SECTION - C
ML arédled mHT SWTHS@GD epem (pamEamaT 6llemdEs.

Give any three methods of preparation of diethyl ether.

S Lrvigenan (HidEw,usaigragman(hé@ 2-drer CeumurBser wirenel ?

Write the differences between acetaldehyde and benzaldehyde.

srrurseils odled yasanreL e eflenarflub erevLra@Ese ellanamudle
auflpenmenil snmis.

, Give the mechanism involved in the esterification of a carboxylic acid with alcohol.

Quperm-S wHmD mBOTaE-66 Y dwenes ereuairn gurfssuu@pdeammer ?
SjeUNOIET LIWETHEENETS S(IHS.

How are Buna-S and nylon-66 prepared ? Give their uses.

3083
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LGS -IV / PART - IV
@Oty : () GCwresb BresnE clamsserss el warfl. 4x10=40
(i) efer erawr 70 sL_Lmwwrsew Wsupdrer alammssafler sgCHanid
epesTm) ellenaasEnd@ edlenLwier
Note : (i) Answer four questions.

(i) Question number 70 is compulsory and answer any three from the remaining
questions.

64. (=) eresLyren seuTdmen samsHHb LTedn jarei’ el 6leTdHEs HMID
DISENT (HOMUT(NEEDET 6T (LSS
(=) S@nflen ereueurmy wHm anregersafmbs Ceupgu® &g ?

(@) Explain the Pauling scale for the determination of electronegativity. Give the
disadvantages of Pauling scale.

(b) How does Fluorine differ from other halogens ?

65. (31) B&& sTAMGSEHLET Smare] LrHHWD wWHHD Swealurged
wrHfuBIGeeT cHl6TsEs.
(<=2p) sdflwss sriuear sre Hlirawm pepent edlaTé@s.
(a) Explain the co-ordination isomerism and ionisation isomerism with example.

(b) Explain Radio-Carbon dating.

66. (=) agrl 4 wHOD LA ravsD Ganurhsemer alleufl
(=) NevenGous rHmd LDl UFly seuissl Qararasmw efaufl.

(a) Explain Schottky defect and Frenkel defect.
(b)  Write briefly the adsorption theory of catalysis.

67. (=) Ppisrigsear upHu GuUiGamemi® Gsrdramsmu eleufl.

() @@ Beasogdear Semwlmu GHUELl vweru@bd TUPAC ar
& (e mHmET 6T(LHSIS.

(a) Explain Quinonoid theory of indicators.

(b) Write notes on IUPAC conventions of representation of a cell.
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Ners@s (HfwsCaronisger)

(<) Uil sifleogdHler {H&E0n L eSlersE.

(@)
(b)

Discuss cis-trans isomerism with a suitable example. (Organic compounds)
Account for the reducing nature of formic acid.

69. (=) @femarw, mlearw wHMD epelmaru BaTEMmaT  6reueTm)

Coumiu(hggleumis ?

(<) QrsCLrélesr enwiient efleufl.

(a)
(b)

Distinguish between primary, secondary and tertiary amines.
Explain the structure of fructose.

70. (1) CHO eramm epadsgam eumiur el Csram. Gaiow (A) pOHblene FeCly

o | e 2argm Hlnsens Garhisdng. Gerwo (A) ew CHCLwpmid NaOH
o |an smigsd Gurg C,HO, ereimy (padsam eumiurl el & GlsmesrL
Gaiwiiger (B) wpmd (C) erary Garwismers Smalngl Gemwd (A)
wresrgy 473 K Qeutiubleneoulley ZnCl, (pemaiieneoudled ibGomesilimeL e
efenanfibg CH,N erenm epossam cumiur(h Garare. Gemiow (D) 08
smAng). Garwd (D) srieuallen @pliede 2 LD, Cerohiser (A),
(B), (C) wpmb (D) @& sawrLdbgl cllanensemensd &(ms.

(=) Qebugpliy Bin 2 Carsbd (A) saflvefleans =i Leaimearuier Cgred 11,

aflens 4 & QL 1b Qupmedrerg. (A) & 1370 K Qeuiublepavd@ &S
Qeuliuu®SgILCUTE) (B) erem smLuLbn Gangemgub, 1370 K &@ Goe

G&OUMSSICUTE (C) erarm Heuliy Hip Carogamsuyb SmHEDS). (A) DL
plfé sflwsgiLear elamearul f NO, erymaes Ceaflelll (B Gemob
(D) 38 Qer(H&SHng. (A), (B), (C) wdHmd (D) 0 Hrewts. ellaneisenars &(hHs.
Compound (A) with molecular formula C;H/O gives violet colour with neutral
FeCl,. (A) reacts with CHCI; and NaOH gives two isomers (B) and (C) with
molecular formula C;H,O,. Compound (A) reacts with ammonia at 473 K in the
presence of ZnCl, gives compound (D) with molecular formula CsH;N.
Compound (D) undergoes carbylamine test. Identify (A), (B), (C) and (D) and
explain the reactions.

(A) is a reddish brown metal. It belongs to group 11 and period 4 of the periodic
table. When heated below 1370 K, (A) gives a black compound (B). When heated
above 1370 K (A) gives a red compound (C). With concentrated nitric acid, (A)
liberates NO, gas and gives compound (D). Identify (A), (B), (C) and (D). Explain
the reactions.
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(&) C,H40 erenmm eppavdanm eumium® Gameanr Gemboib (A) Lreveren sryemnileniL

@B&@L. Gaiwb (A) HCN e e ellemanyflbg Ceiwb (B) & smdnsg.
Gemob (B) e Sjllewsglean wenaflmewiar Srrpu@sen Curg CHO,
ereim epessam eumiur® Qsrar Garow (C) gé sméng. Gt (C)
gefl sRHmD samw CsramLg. Gsrwb (A) NyH,/C,H:ONa 2 L
RB&sD oL pg CHg erenm ewanl Grrariuear (D) evw smélma.
(A), (B), (C) wpmitb (D) &g sawL_ihls. cllanansmers s(ms.

sfereilevar Brsseld AL whmib SO,2° wwalsalan sL&g6Hmner
wopGw 189 @i~ ! Q.52 &.swrerd ! LHmYL 160 b~ ! Gg.152
8l.swrand ! @b, emelleer Brssalan Weau@aluler swrar wHMID
Corert, sLsgsdnenersd &rems.

Compound (A) with molecular formula C,H,O reduces Tollen’s reagent. (A) on
treatment with HCN gives compound (B). Compound (B) on hydrolysis with an
acid gives compound (C) with molecular formula C;H,O, which is an optically
active compound. Compound (A) on reduction with N,H,/C,H;ONa gives a

hydrocarbon (D) of molecular formula C,H,. Identify (A) (B), (C) and (D) and
explain the reactions.

Ionic conductance at infinite dilution of AI’* and SO, are
189 ohm ™! em? gm equiv ~ ! and 160 ohm ~ Tem? gm equiv ~ 1. Calculate equwalent
and molar conductance of the electrolyte at infinite dlluhon
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